PISCO.

http://www. PiSCO.CO.jp/

R
| PV YL R : 3 gAD
A E
= cu‘ )
jH: =11 x x
b } a
& "9 b @ﬂ o
&LHJM/ 2C D:1.8  D:2 D: 4, 6, 1/8, 5/32
2-H

B - mm
F1-758 f2-70F| XA X FilifER | 58 | CAD
U oD M 2 i c || Z (2X) i (mm?)| (g) | 774IL4%
PM180M® | 1.8 |M6x0.75/ 176 21 [135| - |84 | 8 | 2 |48 | - | 1 | 15 [PM18OM
PM2M @ 2 |M6x0.7517.6| 2.1 |136| - |84 | 8 | 2 las | - [ 1 | 2 | Pmam
PM3M@ 3 [M8x075/195| 48 [117] 7 [94 10| 2 [ 7 | 6 | 2431 |PM3M
PMAM® | 4 |M10x1[232| 68 | 14189 (109 12 | 3 | 78 | - |37 | 6 | PMaM
PM6M @ 6 |Mi12x1| 25 | 66 [148[108[11.7| 14 | 4 | 98| - |105| 9 | PMEM
PM1/BM® | 1/8 |M10x1|232| 568 [141|89 [109] 12 | 3 [ 78 | - | 21 | 6.1 |PM1_8M
PM5/32M@ | 5/32 |M10x1[232| 58 (141 | 89 [109| 12 | 3 | 78 | - | 37 | 6 |PM5_32M
PM14M@ | 1/4 |M12x1[246] 64 [148[108[11.4] 14 | 4 | 98| - [112] 88 |PMI_aM

@G =7 %

2.C

//‘_IL__ UJ’J‘Lﬁ
ik ﬁ %
= B @ @ ©

|2-F T D:1.8  D:2
B I mm
O O PR
oD (@X) (mm?) | (g) |F740%
PV180M@ 6 10.3 6 0.7 12 |PV180M
PV2M @) 2 6 | 103 45 6 48 - 0.7 | 11 | Pvem
PV3M @ 3 6 93 | 108 | 45 6 7 6 23 | 12 | PVaM
PV4M @ 4 8 11 [ 131 5.6 8 98 7.8 48 | 23 | pvam
PV6M @) 6 106 | 116 15 6.6 105 | 11.8 9.8 9 36 | PVeM
PV1/8M@ 1/8 8 11| 131 56 8 9.8 7.8 21 | 24 |pvi_am
PV5/32M@ | 5/32 8 | 1 13.1 5.6 8 0.8 7.8 48 | 23 |Pv5_32M
PVI/4M® | 1/4 | 105 | 114 | 1562 | 66 | 105 | 118 | 98 | 107 | 34 [PVI_4M

FN—VHEDEESRIR
¥ EXARDDICIX, SRR TSy ILAT, BRIELAZRLEDRS. BRUTEALTLIZE L,
NERE 54 MNL—=EES (W, &K JU—VIL—LB8E=85 | -C.
SNERE 54 MIL—&3EMER  JU—VIL—LTR=ES I W-C

SHBHTRILIR, SR, TAHEZEEE ORBFHROTRATY, Th—LR—IICTCADF— I ZREL THD &




